
15-17mm

Trestle for sewing table incl. lift

Tools needed for assembling. Not included.

Drawn: RILA Art.nr: 701587 Date: 2025-06-05 Document: MB. 141

Sybord Flexi inkl elhiss

Page: 1-6

11x28 (x6)

Monteringsanvisning / Assembly instructions / Aufbauanleitung

Gestell für Nähmaschinentisch einschl. Aufzug

M10x100 (x6)

10x40 (x4) M10(x6)

(x8) 4x20 (x9)

M6x12 (x4)8X35 (x12) M6 (x6)

(x1) (x6)

Werkzeuge für die Montage sind nicht Teil des Lieferumfanges.

Edition: 03

Verktyg som behövs för montering. Ingår inte.

5x60 (x2)

10x40 (2)

Detail 6

M10x100

Ø11x28(x3)

Detail 5

5x60 (x3)
10x40 (3)

5

4
6

5x60 (x15) 4x40 (x16)5x25 (x4)

6,4x11(x4)

3

Detail 3

M10 (x6)

M6x25 (x6)

2

1 Detail 1

8x35 (x12)

Detail 2

M10x100

Ø11x28(x3)

Torx T20

Detail 4



Art.nr: 701587 Date: 2025-06-05 Document: MB. 141 Edition: 03Drawn: RILA Page: 2-6

9
810

7

Montering hissplatta och vinkeljärn höger/-vänster, dessa är justerbara i höjdläge
och finjusteras när bordet är färdigmonterat.

Installations of the lift plate and angle brackets right/left. These brackets are adjustable in height and are 
fine-tuned when the table is fully assembled.

Montage von Hubplatte und Winkeleisen rechts/links, diese sind höhenverstellbar
und feinabgestimmt werden, wenn der Tisch vollständig zusammengebaut ist.

Detail 8

Detail 7

M6x12 (x4)
6,4x11 (x4)

Detail 10Detail 9

4x40 (x8)4x40 (x8)

M6x25 (x6)
M6 (x6)



Document: MB. 141 Edition: 03Drawn: RILA Art.nr: 701587 Date: 2025-06-05 Page: 3-6

Detail 13b:

Detail 14:

the angle must be able to be turned up if the box is to be dismantled.

If Cable Tray is to be installed, do so at this step. Install Cable Tray, see page 6.

Wenn ein Kabelkanal installiert werden soll, tun Sie dies in diesem Schritt. Kabelrinnenmontage, siehe Seite 6.

Montieren Sie den Schubladenanschlag (Winkel) hinter der Außenseite, ziehen Sie die Schraube unten nicht fest, 

Montera lådstoppet (vinkel) bakom yttersidan, dra ej skruven i botten, 
vinkeln ska kunna vridas upp om lådan ska demonteras.

Assemble the drawer stop (angle) behind the outer side. Do not tighten the screw at the bottom,

Der Winkel muss nach oben gedreht werden können, wenn die Box demontiert werden soll.

Om Kabelränna ska monteras, gör det vid detta steget. Montering Kabelränna, se sidan 6.

DETAIL 12

5x60 (x2)

12

13

14

DETAIL 13b

DETAIL 14

5x40 (x2)
DETAIL 13a

4x20

(x1)
5x

25
 (

x4
)

Detail 11

5x60 (x8)

11



Document: MB. 141 Edition: 03Drawn: RILA Art.nr: 701587 Date: 2025-06-05 Page: 4-6

15

16

4x20 (x2)

(x2)

17

x2

DETAIL 16

Ska grenuttag monteras rekommenderar följande position.

If a power strip is to be installed, the following position is recommended.

Soll eine Steckdosenleiste verbaut werden, empfiehlt sich folgende Position.

DETAIL 17

DETAIL 15



Document: MB. 141 Edition: 03Drawn: RILA Art.nr: 701587 Date: 2025-06-05 Page: 5-6

Hängen Sie die Kabel mit den mitgelieferten Kabelbindern, Schrauben und Kabelbinderhaltern unter 

Steckdose

check carefully that the cables run freely and are not pulled away when the lift is running.
Hang the cables under the plate with the supplied strips, screws and strip holders,

weggezogen werden.

kontrollera noga att sladdarna går fritt och inte rycks bort då hissen är i gång.
Häng upp sladdarna under skivan med de medföljande stripsen, skruvarna och stripshållarna,

Power outlet
Strömuttag

die Platine, Überprüfen Sie sorgfältig, dass die Kabel frei laufen und während der Fahrt nicht 

Bordskontroll uttag
Table control socket
Tischsteuersteckdose

Ställdon uttag
Control unit outlet
Aktuatorausgang

x4

Detail 18c

Detail 18b

18a

18c
18b

Detail 18a



Document: MB. 141Date: 2025-06-05Art.nr: 701587Drawn: RILA Edition: 03

office@sjobergs.se  sjobergs.se

SJÖBERGS WORKBENCHES AB
SE-576 95 Stockaryd Sweden

Tel +46 (0)382-25700

Page: 6-6

sewing machine to the lift plate.

5x40 (x8)

Cable tray

Use the template from the sewing machine supplier for the correct hole pattern to attach the 

Kabelrinne

Använd mall från symaskinsleverantören för rätt hålbild att fästa symaskinen på hissplattan.

6x30 (x4)

Kabelränna

Verwenden Sie die Schablone des Nähmaschinenlieferanten für das richtige Lochmuster, um die 
Nähmaschine an der Hubplatte zu befestigen.

 


